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(2) 1903/(Set : A)
Candidates must write their Roll Number on the question paper.
° U §97l F TGV 37 @ Y@ IF GrREa # @ [ JeT9T g7 T 78 8, gher &
FYUT 39 T § 23 4 qar @hEre & B aam

Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

G 39T -
General Instruction :

() @ g7 SAard &

All questions are compulsory.
(i) FTTTHTFTI2FTE N F AT @&l o § Fov T Fae 7 & -

This question paper consists of 32 questions in all which are
divided into four Sections : A, B, Cand D :

G 3 57 G F1 G 16 T 7 16 F97 &, 9% J97 1 6% & &1
Section A : There are 16 questions from 1 to 16, each of 1 mark.
€ §: 37 @€ 417 @21 T 75 797 &, J9% 597 3 3% # &
Section B : There are 5 questions from 17 to 21, each of 3 marks.
G F 59 G 722 @27 T 7T 6 F97 8, J9% 797 4 7% & &1
Section C : There are 6 questions from 22 to 27, each of 4 marks.
G T 39 G 728 §32 7% 75 F97 &, H9% H9T 5 3% ¥ &1
Section D : There are 5 questions from 28 to 32, each of S marks.
(i) @& T F G 77 7 SE A% _RF T &1 ITH @ G Jo7 F A &1
Section D contains two questions where internal choice have been

provided. You have to choose one of them.

1903/(Set : A)



(3) 1903/(Set : A)
gos -
SECTION - A
1. 3% 306 3K 657 #H HCF 9 ¥, @ IGH LCM & : 1
(A) 2482 (B) 22338
(C) 2754 (D) 5913

If HCF of 306 and 657 is 9, then its LCM is :

(A) 2482 (B) 22338
(C) 2754 (D) 5913
2. 6x?-7x-3 % FF & : 1
1 3 7 3
A) -—,= B) ——,=
(A) 375 (B) 376
7 3 .
© —-= (D) T & HE et
6 6
The zeros of 6x% — 7x—- 3 are :
1 3 7 3
@ -5 B -L->
32 3 6
(C) %,—% (D) None of these

3. THHTN ajx+by+c; =0 AR ayx+byy+c, =0 H ﬂzgzc—l, ar
as 2 €2

frr=ifafad & H9-a1 g ® ? 1
(A) SAfEaE B (B) s & &l
(C) SMRMT & (D) =8 ¥ Fi3 &l

If in equations a;x+bjy+c; =0 and a,x+byy+cy =0, —=—=—,
a

then which of the following is true ?

1903/(Set : A) P.T.O.



(4) 1903/(Set : A)

(A) Unique solution (B) No solution
(C) Infinite solutions (D) None of these
4. Aap. L2913 F 1531 T 8 1
3’3’33
61
A) — B) 6
(A) 3 (B)
(C) 5 (D) 19
15th term of A. P. 1,2,2,2 is :
333 3
61
A) — B) 6
(A) 3 (B)
(C) 5 (D) 19
5. A A. P. & G0 U 5 X 7d1 Ug 13 B, @ IgH G S (common
difference) 8 : 1
(A) 1 (B) 2
€ 3 (D) 4

If 3rd term of an A. P. is 5 and 7th term is 13, then its common
difference is :

(A) 1 B) 2
(€) 3 D) 4

6. & T HI H AODC ~ AOAB, «BOC = 100°, £0DC = 60°, I
ZOAB # WM 8 : 1

1903/(Set : A)



D C (5) 1903/(Set : A)

60°

OX) 100°
A
(A) 20° (B) °80°
(C) o60° (D) 40°
In the given figure AODC ~ AOAB, ZBOC = 100°, £Z0DC = 60°,
then ZOAB is equal to :
D C
60°
OoxY) 100°
A B
(A) 20° (B) 80°
(C) o60° (D) 40°

7. R q THET B A qonell F oo 2 : 3 B, @ I &AFme H U ©
1

A) 2:43 B) 2:3
(C) 4:9 (D) T & g T
If ratio of the sides of two similar, triangles is 2 : 3, then the ratio of
their areas is :
A) 2:43 B) 2:3
C) 4:9 (D) None of these
8. e el g P & 900 & S Tl T, Wel W1 ) =R 24 dH B AR fag @
HE AU 25FH e, Mg o Bowr Al T & ¢
(A) 12 3 (B) 12.5 W
(C) 194 (D) 7 |4

1903/(Set : A) P.T.O.



(6) 1903/(Set : A)
From a point P, the length of tangent to a circle is 24 cm and distance
of P from the centre is 25 cm. The radius of the circle is :

(A) 12 cm B) 12.5cm
(C) 1cm (D) 7 cm
9. UF gd W GHiaY Tt @l i oy e ® 0
(A) 1 (B) 2
€ 3 (D) 4
The maximum number of parallel tangents to a circle is :
(A) 1 (B) 2
€ 3 (D) 4
10. @ g & (5,-7) # gl & : 1
A) 74 (B) -2
€ 2 (D) 12
The distance of point (5, —7) from origin is :
A) 74 (B) -2
€ 2 (D) 12
11. Brgs B o (1, -1), (4, 6) R (-3, -5) B, ST &% ¢ : 1
43
(A) Y (B) 8
(C) 24 (D) FH § Fx el
The area of triangle whose vertices are (1, —1), (-4, 6) and (-3, -5)
is :
43
A = (B) 8

1903/(Set : A)



12.

13.

14.

(7)

(C) 24 (D) None of these
qﬁtanA=%,\"ﬁcosA35rrlFr%: 1
5 12 13 12
A — B) — c) — D) =
(A) 13 (B) 5 (& 5 (D) 13

If tanA= %, then the value of cos A is :

5 12 13 12
A — B) — C) — D) —
W > ®F © - O]

a2
1 tan2 30 1 our % : 1
1+tan” 30
(A) cos 60° (B) tan 60°
(C) sin 60° (D) tan 30°
P,
The value of M is
1+tan” 30

(A) cos 60° (B) tan 60°
(C) sin 60° (D) tan 30°
gd % IRy AR A H A o 1
(A) 2m:1 B) =m:1
C) 1:1 (D) T8 9§ Pz 7l

The ratio of circumference and diameter of a circle is :

(A) 2m:1 B) =m:1

C) 1:1 (D) None of these

1903/(Set : A)

1903/(Set : A)

P.T.O.



(8) 1903/(Set : A)
15. UF i & oYX & Boar 7 4 ofR S 6 89 8, O Sua STaeH © (n:gj

7
1
(A) 924 qH° (B) 308 HI°
(C) 1232 3° (D) T8 9§ Fig 7l
The radius of the base of a cone is 7 cm and the height is 6 cm. Its
volume is (n = 2) :
7
(A) 924 cm® (B) 308 cm®
(C) 1232 cm?® (D) None of these
16. 3R P(E) = 0.05, @ P (E 7)) & : 1
(A) 0.05 B) 0.5
(C) 0.95 (D) T8 § Fi3 7ol
If PE) = 0.05, then the P (not E) is :
(A) 0.05 B) 0.5
(C) 0.95 (D) None of these
e - §
SECTION - B
17. s T & 6+42 % STURAT weEm R 3

Prove that 6+ \/5 is an irrational number.

18. U% faum SgUe & e e o —4 X 2 &1 3

1903/(Set : A)



19.

20.

21.

22.

(9) 1903/(Set : A)

Find a quadratic polynomial whose zeros are -4 and 2.

& @Y P Fagdl 7 W R 12 W ¥ wE a9 W Ee ¥ ARk e e
R & 4 o g0 12701 3, & o o R @ 49 B g0 99 AR 3

Two poles of heights 7 m and 12 m stand on a plane ground. If the
distance between the feet of the poles be 12 m, then find the distance
between their tops.

I tan (A + B) = /3 Gﬂ'{tan(A—B)=%, 0°<A+ B<90° A
> B, @l AR B & 99 Id Hiw 3

1
If tan (A + B) = +/3 and tan (A—B)=ﬁ, 0° < A+ B<90°,

A > B, then find the value of A and B.
4 T BT 9 U g9 B POUEE (sector) H AFEA FIG HIOT PTEE dE W

BT 45° B (T = 3.14) 3
Find the area of the sector of a circle with radius 4 cm and the angle
at the centre is 45°, (= 3.14)
grg - 4

SECTION-C
i @Rl @l & g 4

3x _SYy_ _,

2 3

x,y_13

3 2 6

Solve the following equations :

1903/(Set : A) P.T.O.



23.

24.

25.

26.

(10) 1903/(Set : A)

3x_dSYy_ _,
2 3

T GBI P B BT S Al O e gEd @ 17 a4 FH 21 Al &0 A
g 25 |Al B, A AN NSl i A S S 4

The side of a right angle triangle is 17 cm less than the other side. If
length of hypoteneuse is 25 cm, find the length of sides.

TH A P. 3 Ued 7 T& H AT 49 A T8 17 W& H AT 289 B, q 39 A. P.
% n Y& B AN G BT 4

If the sum of first 7 terms of A. P. is 49 and sum of first 17 terms is

289, then find the sum of n terms of A. P.

el a1 forg & 90 W Eil T wet el B aEar aUe] e |, s i
4

Prove that the length of tangents drawn from an external point to a

circle are equal.

T qF F 5 q, 8 The ol 4 &0 W B wp Ve A 4 o @ Frepreht
SRt 21 39 T B AW B F WAl S B 39 T & 80 T 8 @ o
TehdT ST it 4

A box contains S5 red, 8 white and 4 green balls. A ball is drawn at

random. Find the probability of getting a red ball. Also find the
probability that the ball is not green.

1903/(Set : A)



(11) 1903/(Set : A)
27. (5, -6) 3R (-1, -4) F HAN arl @1 H y-39& e U § i #7ar &

? RS w9 g & Feaie @ q9 @t 4
Find the ratio in which the line joining (5, -6) and (-1, —4) is divided by
y-axis. Also find the coordinates of the point of intersection.
gue - ¥
SECTION-D
28. T% IS THEHM @ § 360 Rl Ionl o afk Igh =@ 5 fHH/ave ot
&, @ I g QX S F 1 H HH T § 7 MY H AW G B 5
A train travels 360 km at a uniform speed. If the speed had been 5

km/hour more, it would have taken 1 hour less for the same journey.

Find the speed of the train.

29. 5 FIRT : 5

l+secA  sin®A
sec A 1-cosA

Prove that :

l1+secA sin? A
sec A l1-cosA

HAYqT
OR

1903/(Set : A) P.T.O.



30.

31.

32.

(12) 1903/(Set : A)
T GHAA SHN W T8l MK &l 8R1 39 Rafq | 40 dt 31fEe =

& St ¥ e gd B I BT 60° F Fedh] 30° & Sl ¥ HARK @ Feg
S i

The shadow of a tower standing on a level ground is found to be 40 m
longer when the altitude (the angle of elevation) of sun changes from

60° to 30°. Find the height of tower.

o BT ) T AT B A g 6 3 o 5 A & o o @ A
60° &, 30 B & quEw gk S # @A Fiv, Sed gt 3| B @

3 3, 5
4

Draw a triangle whose two sides are 6 cm and 5 cm and the angle

. . . 3
between them is 60°, construct another triangle whose sides are 1 of

the corresponding sides of first triangle.

Brear 4.2 @l a@ o1 & T M & UEemex 6 a9 B o 0 9ig & &9 H
TIAT ST &1 S & SHaAs S Do 5

A metallic sphere of radius 4.2 cm is melted and recast into a shape of

cone of radius 6 cm. Find the height of the cone.

e R gom dod Uw Fe & 30 fEnfE @ R = @ o [ @ e
I S T 5

IR (ﬁﬁﬂ'ﬂﬂ ar) 40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 | 70-75

1903/(Set : A)



(13) 1903/(Set : A)
Renfefdt & g | 2 3 8 6 6 3 2

The distribution below gives the weight of 30 students of a class. Find

the median weight of the students :

Weight (in Kg.) 40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 | 70-75

No. of Students 2 3 8 6 6 3 2

AYqT
OR

el Aiee & 25 URART H Ao W @G Mg 81 SieH W g3 A @y
S I

&4 (s9 ) 100-150 | 150-200 | 200-250 | 250-300 |300-350

e & wem | 4 5 12 2 2

The table below shows daily expenditure on food of 25 households in a

locality. Find the mean daily expenditure.

Expenditure (in Rs.) | 100-150 | 150-200 | 200-250 | 250-300 | 300-350

No. of households 4 5 12 2 2

1903/(Set : A) P.T.O.
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(2) 1903/(Set : B)
Candidates must write their Roll Number on the question paper.
° U §97l F TGV 37 @ Y@ IF GrREa # @ [ JeT9T g7 T 78 8, gher &
FYUT 39 T § 23 4 qar @hEre & B aam

Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

G 39T -
General Instruction :

() @ g7 SAard &

All questions are compulsory.
(i) FTTTHTFTI2FTE N F AT @&l o § Fov T Fae 7 & -

This question paper consists of 32 questions in all which are
divided into four Sections : A, B, Cand D :

G 3 57 G F1 G 16 T 7 16 F97 &, 9% J97 1 6% & &1
Section A : There are 16 questions from 1 to 16, each of 1 mark.
€ §: 37 @€ 417 @21 T 7 5 797 &, J9% 597 3 3% # &
Section B : There are 5 questions from 17 to 21, each of 3 marks.
G 59 G 722 @27 T 7T 6 F97 8, J9% 797 4 7% & &1
Section C : There are 6 questions from 22 to 27, each of 4 marks.

G T : 39 G5 § 28 § 32 7% A 5 J97 &, J9% F9T 5 i #H &l

Section D : There are 5 questions from 28 to 32, each of S marks.
(i) @& T F G 77 7 SE A% _RF T &1 ITH @ G Jo7 F A &1

Section D contains two questions where internal choice have been

provided. You have to choose one of them.

1903/(Set : B)



(3) 1903/(Set : B)
gug - H
SECTION- A
1. I 96 A 404 H HCF 4 8, & 394 LCM 8 : 1
(A) 38784 (B) 9696
(C) 2274 (D) T & HE et
If the HCF of 96 and 404 is 4, then their LCM is :
(A) 38784 (B) 9696
(C) 2274 (D) None of these
2. 4x%+1-4x % J9F © : 1
11 1 1
(A) 25 (B) 575
1 1
(C) 17Z (D) _271
The zeros of 4x2 + 1 — 4x are :
11 1 1
(A) 25 (B) 575
1 1
(C) LZ (D) _Z’l
3. N ax+by+c; =0 AR aox+byy+c, =0 H %7&%, ar et
2 2
d -1 FFE ? 1
(A) B T TE (B) SRR =
(C) ofadi & (D) T & HF T

If the equations a;x+bjy+c; =0 and ay,x+byy+c, =0, are such that

a

as )

1903/(Set : B)

# % , then which of the following is true ?

P.T.O.



(4) 1903/(Set : B)

(A) No solution (B) Infinite solutions

(C) Unique solution (D) None of these

4. A.P. 0.6,1.7,2.8,3.9, ......... P 1431 9 B ¢ 1
A) 14.9 (B) 16.0
) 17.1 (D) 18.2
14th term of A. P. 0.6, 1.7, 2.8, 3.9, ......... is :
A) 14.9 (B) 16.0
(C) 17.1 (D) 18.2

5. 3% B8 A. P. & o190 € 4 X 9a7 U -8 ¥, @ Ik 99 <R (common

difference) 8 : 1
A) -2 (B) 2
€ 4 (D) -8

If 3rd term of an A. P. is 4 and 9th term is -8, then its common

difference is :

(A) -2 (B) 2
(C) 4 (D) -8
6. & T IFA H AODC ~ AOAB, £BOC = 125°, £0DC = 70°, @
ZOAB & AN @ : 1
D C
70°
Oox) 125°
A B

1903/(Set : B)
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(5) 1903/(Set : B)

(A) 70° (B) 35°
(C) 50° (D) 55°
In the given figure AODC ~ AOAB, ZBOC = 125°, Z0DC = 70°,

then ZOAB is equal to :

(A) 70° (B) 35°
(C) 50° (D) 55°

7. AR A GEEY BT H GeST # UG 3 : 5 B, A ITH AFHE P UG ?
1

A) V3:45 (B) 9:25
(C) 5:3 (D) T ¥ F e
If ratio of the sides of two similar triangles is 3 : 5, then the
ratio of their areas is :
A) V3:45 (B) 9:25
) 5:3 (D) None of these
8. MIEARNTPAHIT S &= 4 g0 13N 2 ol g7 &l Breowr 5 W, @ P
q g9 W 9 T et @ B T R o 1
(A) 8T (B) 6.5 Hl
(C) 9 & (D) 12 a9

Distance of a point P from the centre of a circle is 13 cm. If the radius
of the circle is 5 cm, then the length of tangent from P to the circle is :
(A) 8 cm (B) 6.5cm

1903/(Set : B) P.T.O.



10.

11.

12.

(6) 1903/(Set : B)
(C) 9cm (D) 12 cm
T I0 & S Red el g | Al T wmet Tamet @ tfemw den 5 1
(A) 1 (B) 2
© 3 (D) T+
The maximum number of tangents from a point on the circle is :
(A) 1 (B) 2

(C) 3 (D) None

g (4,5 A @RI : 1
(A) 1 B) 9

(C) 41 (D) T & P13 T

The distance of point (-4, 5) from origin :

(A) 1 B) 9

© Ja1 (D) None of these

frgaft (-5, 3), (6, -2) ¥R (-3, 4) # AW & T A B H &6 © ¢ 1
(A) 15 (B) 30
(C) 10.5 (D) ¥ & P &

The area of triangle formed by joining the points (-5, 3), (6, —2) and (-3,
4) is :

(A) 15 (B) 30

(C) 10.5 (D) None of these

ﬁcosAzi,ﬁTtanAq:ﬁqF—f%I 1
25 24

A) — B) ==

(A) = (B) =

1903/(Set : B)



13.

14.

15.

1903/(Set : B)

(7) 1903/(Set : B)
24 25
€ — D) —
25 24
If cosA = % , then the value of tan A is :
25 24
A) — B —
@ = (B)
24 25
€ —- (D) ——
25 24
_2tan307 tanfo & A R 1
1+ tan“ 30°
(A) sin 60° (B) cos 60°
(C) tan 60° (D) cot 60°
The value of w
1+ tan“ 30°
(A) sin 60° (B) cos 60°
(C) tan 60° (D) cot 60°
gq P IR AR B # oFUE © 1
A) 2m:1 B) m:1
C) 1:1 (D) T § B 7l
The ratio of circumference and radius of a circle is :
(A) 2m:1 B) m:1
C) 1:1 (D) None of these
T I B SR H Bear 14 T IR S 6 A B, O ST oMFAT B ¢ 1
P.T.O.



(8) 1903/(Set : B)
(A) 196 = (B) 392

(C) 1176 (D) T & FE T

The radius of the base of a cylinder is 14 cm and height 6 cm. The
volume of the cylinder is :

(A) 196 T (B) 392
(C) 1176 (D) None of these

16. I P(A) = 0.07, @ P (A &l) & 9F 2 : 1
(A) 0.07 (B) 0.93
(C) 0.3 (D) 0

If P(A) = 0.07, then the P (not A) is :

(A) 0.07 (B) 0.93
(©) 0.3 (D) O
oS - §
SECTION - B
17. e #C & 3-2V5 & oy e B 3

Prove that 3 - 2\/5 is an irrational number.

18. T &9 SgUe &I Hiorg fores 7 -3 3R 5 &l 3
Find a quadratic polynomial whose zeros are -3 and 5.

19. I T¥ FTEd SRl 6 W iR 12 1 B, 0F @Hqq 90 W TS ol 9% THad T
T H gU 8 Hl B, @ I 9 R F A A 30 7@ b 3

1903/(Set : B)



20.

21.

22.

(9) 1903/(Set : B)

Two poles of heights 6 m and 12 m stand on a level plane ground. If
the distance between the feet of the poles is 8 m, then find the distance

between their tops.

Zlﬁsin(A+B)=§ aﬁ?sin(A—B)=é, 0° < A + B<90°,
A>B, @ AR B & 9 3G HioT 3
Ifsin(A+B)=§ andsin(A—B)=%, 0°<A+B

<90° A > B, then find A and B.

7 Q1 BrodT A T g9 & BeUrde (sector) H ANGA S BT STHE FHE W
HIUT 30° Bl 3

Find the area of the sector of a circle with radius 7 cm and the angle at

the centre is 30°.

grs - 9
SECTION-C

Solve the following equations :

1903/(Set : B) P.T.O.



23.

24.

25.

26.

27.

(10) 1903/(Set : B)

2x Y _g

3 2

x 2y 1

2 3 6
T AR Od & (a0 & s, Bidl oM @ 60 Hi o1 8, ik a1 9,
8ISl o1 @ 30 W o &, A T B eI G Hi 4

The diagonal of a rectangular field is 60 m more than the shorter side.
The longer side is 30 m more than the shorter side. Find the sides of
the field.

I T A. P. & UBd 6 &l H A 12 X Yed 10 T & AT 60 ¥, o 3G A.
P. & n T& & I MG B 4

If the sum of first 6 terms is 12 and sum of first 10 terms is 60, then
find the sum of its n terms.

el T forg & g0 W Sl T wet el B aEEar aUe] B |, o dii
4

Prove that the length of tangents drawn from an external point to a
circle are equal.

T T P T TE Bl T e d TH T e Sl 8| 36D ghH F Il o
Pl JMEHAT S I I8 SIGTE T Bl &l Tl Al i &io 4

A card is drawn from a well shuffled deck of playing cards. Find the
probability of getting the spade card. Also find the probability that the
card is not a king.

(5, —6) SR (-1, —4) & FAM drel 3@ & -8 fhd U d i e B
oo & art faeg & Fceris ot s i 4

Find the ratio in which the line joining (5, -6) and (-1, —4) is divided by

x-axis. Also find the coordinates of the point of intersection.

gue - §
SECTION-D

1903/(Set : B)



28.

29.

(11) 1903/(Set : B)
T IAMS THEFH = d 180 Rl & gl =@ 21 A IHH A 6 Rt/ aver
A &, A IE I B W AN H 1 HI HH THI O[T 8l Ml B AW HA
I 5

A train travels 180 Km at a uniform speed. If the speed had been 6
km /hour more, it would have taken 1 hour less for the same journey.
Find the speed of the train.

s #ife - 5

tan© N cot©
1-cot6 1-tan®

=1+secO cosec 9

Prove that :

tan© cot O

+ =1+secH cosecH
l1-cot0 1-tan®

HAYqT
OR

T MR & UE g 8 @F a9 & Q@) & S+E9 HT 30° & AR 9 & IR
frg & 99R 3 RreR &1 I A9 60° Bl AR HMR 50 H S R, @ wad @
A% Fd S

The angle of elevation of the top of a building from foot of tower is 30°
and angle of elevation of top of the tower from the foot of building is

60°. If height of tower is 50 m. Find the height of building.

1903/(Set : B) P.T.O.



30.

31.

32.

(12) 1903/(Set : B)
s B @ A e e 3 &, 4§ oI 5 & N 3| B &

W@%agaﬁwm,wwﬁwmm%ga. 5

Draw a triangle with sides 3 cm, 4 cm and 5 cm. Construct another

. . 3 .. : . .
triangle whose sides are 2 times of the corresponding sides of this

triangle.

5.6 Gl Browr ad U o1 % Mo Bl {Eae 6 1 Bowr A U 9o & &9 F
TIAT ST &1 Jo & S T o 5

A metallic sphere of radius 5.6 cm is melted and recast into a shape of

cylinder of radius 6 cm. Find the height of the cylinder.

Frrticiie arell & a8 & faemedl d Afecn e & gfqed s ®asidl

21 nfeer Rt & qey ufaea s S 5
q%ar m Gl 15-25 | 25-35 | 35-45 | 45-55 | 55-65 | 65-75 | 75-85
8 s B o
=t | ge 6 11 7 4 4 2 1

The table below gives the percentage distribution of female teachers in

the schools of rural areas. Find the mean percentage of female teachers

Percentage of | 1555 | 25.35 | 35-45 | 45-55 | 55-65 | 65-75 | 75-85
female teachers

1903/(Set : B)
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Number of areas 6 11 7 4 4 2 1
STeEr
OR
frrfoReg aRaRar deq 5 diecd & foowelt @ Wi @ua gufar 1 39 ST &
qregsh Sd IS -
e @aq
65-85 85-105 | 105-125|125-145(145-165|165-185
(st &)
. o 4 5 13 20 14 4
qe&0

The following distribution gives the monthly consumption of consumers

of a locality. Find the median of the distribution.

Monthly
consumption (in
units)

65-85 | 85-105 |105-125|125-145|145-165|165-185

Number of
consumers

1903/(Set : B) P.T.O.
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(2) 1903/(Set : C)
Candidates must write their Roll Number on the question paper.
° U §97l F TGV 37 @ Y@ IF GrREa # @ [ JeT9T g7 T 78 8, gher &
FYUT 39 T § 23 4 qar @hEre & B aam

Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

G 39T -
General Instruction :

() @ g7 SAard &

All questions are compulsory.
(i) FTTTHTFTI2FTE N F AT @&l o § Fov T Fae 7 & -

This question paper consists of 32 questions in all which are
divided into four Sections : A, B, Cand D :

G 3 57 G F1 G 16 T 7 16 F97 &, 9% J97 1 6% & &1
Section A : There are 16 questions from 1 to 16, each of 1 mark.
€ §: 37 @€ 417 @21 T 7 5 797 &, J9% 597 3 3% # &
Section B : There are 5 questions from 17 to 21, each of 3 marks.
G 59 G 722 @27 T 7T 6 F97 8, J9% 797 4 7% & &1
Section C : There are 6 questions from 22 to 27, each of 4 marks.

G T : 39 G5 § 28 § 32 7% A 5 J97 &, J9% F9T 5 i #H &l

Section D : There are 5 questions from 28 to 32, each of S marks.
(i) @& T F G 77 7 SE A% _RF T &1 ITH @ G Jo7 F A &1

Section D contains two questions where internal choice have been

provided. You have to choose one of them.

1903/(Set : C)



(3) 1903/(Set : C)
gos - A
SECTION - A

1. 3} 135 3R 225 % HCF 45 ¥, @ 3@ LCM ® : 1

(A) 405 (B) 1125
(C) 675 (D) 38 9§ Fig 7l
If HCF of 135 and 225 is 45, then their LCM is :
(A) 405 (B) 1125
(C) 675 (D) None of these
2. 3x?-4-x% LI & : 1
4 4
A 1a__ B - ].,—
(A) 3 (B) 3
4 4
C - ]-a__ D 1,—
(& 3 (D) 3
The zeros of 3x2 -4 — x are :
4 4
A 17__ B — ].,—
(A) 3 (B) 3
4 4
C - ]-a__ D 1,—
(& 3 (D) 3

3. §HCT ajx+by+c; =0 AN apx+byy+c, =0 ¥ AR ﬁ=5—1¢c—1, at
Ay D2 Co

frr=ifafad & H9-91 g ® ? 1
A)  Afady & (B) ®i5 & Tal
(C) SMRMT & (D) = ¥ Fi3 &

: : b
If in equations a;x+b;jy+c; =0 and azx+byy+cy =0, s B R

)

a E C2
then which of the following is true ?

1903/(Set : C) P.T.O.



(4) 1903/(Set :

(A) Unique solution (B) No solution

(C) Infinite solutions (D) None of these

4. A.P. 13, 15%,18, 20%, ......... H 1A | : 1
(A) 38 (B) 40%
1
(C) 43 (D) 45—
2

1 1 .

11th term of A. P. 13, 155, 18, 205, ......... is :
(A) 38 (B) 40%
1
(C) 43 (D) 455

5. 3¢ fhel A. P. & 1141 98 38 X 1641 U8 73 B, df 3GH Uedl U8 © :

(A) 7 (B) 32
(C) -32 (D) -35
If 11th term of A. P. is 38 and 16th term is 73, then its first term is :
(A) 7 (B) 32
(C) -32 (D) -35
6. & T ST ¥ DE || BC @ DB ® AN % : 1
1.2 & A 1.8 &t
D E
5.4 9
B C

(&) 2.4 %H (B) 4.8
(C) 1.8%H (D) 3.6

1903/(Set : C)

C)



(5) 1903/(Set : C)
In the given figure DE || BC, then the value of DB is :

A
1.2 cm 1.8 cm

D E
5.4 cm
B C
(A) 2.4 cm (B) 4.8cm
(C) 1.8cm (D) 3.6 cm

7.  TUEY BT $ G H STIU 4 : 5 B, A ST WG YOS H U @ :
1

(A) 4:5 (B) 16:25
(C) 2:45 (D) 5:4

Areas of two similar triangles are in the ratio of 4 : 5, then the ratio of
their corresponding sides is :

(A) 4:5 (B) 16:25
(C) 2:5 (D) 5:4

8. R I & X Rl A5 P @ 300 & S el | Wl @ H ag 15 a6 A
ARgaH e TN, ARFPH e d= dgli & ¢ 1
(A) 7 g (B) 23 &
(C) 17 8 (D) 7.5 &
From a point P outside the circle the length of tangent to the circle is

15 cm and the radius of the circle is 8 cm, then the distance of P

from the centre of circle is :

(A) 7 cm (B) 23 cm
(C) 17 cm (D) 7.5 cm

1903/(Set : C) P.T.O.



10.

11.

12.

(6) 1903/(Set : C)

. T gq & ae} g Bl g @ 99 W EiEl B sl el @ sfteaw den @
: 1

(A) O (B) 1
C) 2 (D) 4

From a point outside the circle the maximum number of tangents
drawn is :

(A) O (B) 1
) 2 (D) 4

g (5 12 Hg@magagle: 1
A) 13 (B) 17

) 7 (D) 6

The distance of point (-5, 12) from origin is :

(A) 13 B) 17
) 7 (D) 6
A(5, 2), B(4, 7), C(7, -4) & B & & ai Brget 1 &t & 0 1
(&) 57 T FHE (B) 2@ %
() 0 (D) & & HI§ &
The area of triangle formed by joining A(5, 2), B(4, 7), C(7, —4) is :
(A) 57 Sq. units (B) 2 Sq. units
€ o (D) None of these
211%?sinA=%,t_:lsrsech")TqT"'f%: 1
13 13
A = B 5

1903/(Set : C)



12

© 13

If sinA = % , then the value of sec Ais :

13
A -
(A) 5
12
e ==
(C) 3
13. 21080 gy
1-tan” 30°
(A) tan 60°
(C) cos 60°

2tan 30°
—— s
1-tan® 30°

The value of

(A) tan 60°

(C) cos 60°

13
B -
B) 5

12
D) ==
D) —
(B) sin 60°
(D) cot 60°
(B) sin 60°
(D) cot 60°

14. g9 % Brear o oRfY &1 o1gue @

A m:1

(C) 1:2x

The ratio of radius and circumference is :

A m:1

(C) 1:2n

B) 1:m

(D) 2r:1

B) 1:m

(D) 2r:1

1903/(Set : C)

15. UF 9 & MR & B 3.5 §f ok ok 9 9l &, f oo o © ¢ 1

1903/(Set : C)

P.T.O.



(8) 1903/(Set : C)
(A) 36.75T (B) 110.257

(C) 330.75 T (D) T8 9§ Fig 7l

The radius of the base of a cone is 3.5 cm and height 9 cm. Its volume
is :

(A) 36.75m (B) 110.25m
(C) 330.75m (D) None of these

16. 3 P(E) = 0.03, @ P (E &) & A9 & : 1
(A) 0.97 (B) 0.7
(C) 0.03 (D) O

If P(E) = 0.03, then the P (not E) is :

(&) 0.97 (B) 0.7
(C) 0.03 D) O
goE - §
SECTION - B
17. 4= #idT & 243 T A ger B 3

Prove that 2x/§ is an irrational number.
18. U% fEu 9gUe S Hio & 8% 4 3T -1 & 3

Find a quadratic polynomial whose zeros are 4 and -1.

19. T Hidl TN W 36 YR feol g8 & & 3o Faen R AR @ 2.5 6 & @@
T T T TEH HUG R 9 & 6 W HaAE W A fasdl 9% Tgaa o del
%l TS F eI 3

1903/(Set : C)



(9)

1903/(Set : C)

A ladder is placed against a wall such that its foot is 2.5 m distance

from the wall, an its top reaches a window 6 m above the ground. Find

the length of the ladder.

20. IR cos 4A = sin (A - 20°), &I 4A TF A0 5, A A H AN T HoQ 3

If cos 4A = sin (A - 20°), where 4A is an acute angle, then find the value

of A.

21. T% gq & Bodr 21 G B0 g9 H TF 99 & W 60° F HOT SFART B 8,

Prourds @ &% S i)

In a circle of radius 21 cm an arc subtends an angle 60° at the centre,

then find the area of sector.

qre - 4

SECTION-C

22, frHfeRad Tiieten # e HifTT :

N

2y _
3
g_13

2 6

+

Wlx N|&

Solve the following equations :

1903/(Set : C)

£+2_y:_]_
2 3

x_y_13
3 2 6

P.T.O.



23.

24.

25.

26.

27.

(10) 1903/(Set : C)
q et & O # R 180 B BIE WEA & O 991 €& & e AT o
SNl G &l S BT 4
The difference of the square of two numbers is 180. The square of the
smaller number is 8 times the larger number. Find the two numbers.

A A.P. & U&d 6 Tl H1 AT 96 ¥ ;X Ted 10 Y&l H A 240 ¥, A I A.
P. % n T& & I 5Md  HiQ) 4

If the sum of first 6 terms is 96 and sum of first 10 terms is 240, then
find the sum of n terms of A. P.

el @ forg & g0 W Eil T wet el aEdr aUe] e |, s dii
4

Prove that the length of tangents drawn from an external point to a
circle are equal.

T 9 H 6 &, 7 e X 5 Fel S 1 U e 9 § @ 4 2@ el
T Bl 39 T B G%E BN @ WIeaT S HicTT 39 AT & e 7 o @ |
TRk ST it 4

A box contains 6 red, 7 white and 5 black balls. A ball is drawn at
random. Find the probability that the ball is white. Also find the
probability that ball is not red.

A(1, -5) 3R B(-4, 5) @ MM arcil @1 ® -8 g o & o &
g ? i &0 9l g & Fesis ot S S 4
Find the ratio in which the line joining A(1, — 5) and B(- 4, 5) is divided
by x-axis. Also find the coordinates of the point of intersection.
gug - §
SECTION-D

1903/(Set : C)



28.

29.

30.

(11) 1903/(Set : C)

aA WA $ g 132 [ I w9 H U6 TRE Ael, a9l Mel 9 1 g &4

I A B (RM W ST B W A 7 7 forn S o wwmw @ A

gt ME A 11 i/ gver ofye &, @ AN Yeiedl @ oNEd o Sd it
5

An express train takes 1 hour less than a passenger train to travel 132
km between two stations (stoppage time between two stations is not
considered). If the average speed of the express train is 11 km/hour
more than the passenger train, then find the average speed of two
trains.

s ifog 5
(sinA +cos ecA)2 + (cos A+sec A)2 =7 +tan? A+cot? A

Prove that :
(sinA +cos ecA)2 + (cos A+sec A)2 =7 +tan? A+cot? A

AYqr
OR

7H Y TH 999 B R ¥ T AR B RREX & S99 0 60° T X 39D
e & TaTHT BT 45° 2| HAR $H SHAR Fd HiT)

From the top of a 7 m building the angle of elevation of the top of a
tower is 60° and angle of depression is 45°. Find the height of the
tower.

o B ) T AR PR A g 4 M AR 5 4 & R o d
HT 45° BN 3W BT B TEEN T g YT F @A FIW, B gt g|
ﬁﬂﬁiﬁ%ﬁl 5

1903/(Set : C) P.T.O.



31.

32.

(12) 1903/(Set : C)
Draw a triangle whose two sides are 4 cm and S cm and the angle
included between them is 45°. Construct another triangle similar to

this triangle whose corresponding sides are 2 times of this triangle.

T 24 TN ST X 6 T oER Brewn & i # AT T A 9 S el
Mol ol Brear s it 5

A cone of metal of height 24 cm and radius of base 6 cm is melted and

recast into a sphere. Find the radius of the sphere.

TF %A FRRE @ 100 FATH (Surnames) [T T ITH GFE SIS
qUIHIET & el W HE H i SRR deT 9 g3 ¢ 5

STert ) e |1-4/4-7|7-10|10-13|13-16 [ 16-19

Wqﬁ'mG 30| 40 16 4 4
R & HEAE e bl G F it

100 surnames were picked from a telephone directory and the
frequency distribution of the number of letters in the English alphabets

in the surnames was obtained as below :

Number of letters |1-4|4-7|7-10|10-13|13-16|16-19
Number of surnames| 6 |30 | 40 16 4 4

Determine the median number of letters in the surnames.

AYqT
OR

Frfoead sifehs 75 fasTal Suel & IR Stavra (91 &) & ga ad © ¢

\-,haq_m (qa ﬁ) 0-20 |20-40(40-60( 60-80 |80-100|100-120

1903/(Set : C)



(13) 1903/(Set : C)

qm 10 15 12 21 8

SUHIN I AT SHa-ehd S it

The following data gives the information on the life-time (in hours) of 75

electrical instruments.

Lifetime (in hours) 0-20 | 20-40 | 40-60 | 60-80 | 80-100 | 100-120
Frequency 10 15 12 21 8 9

Find the mean lifetime of the instruments.

1903/(Set : C) P.T.O.
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(3) 1903/(Set :
qgUE - &
SECTION - A

1. 3% 124 3 148 H HCF 4 ¥, @ 371 LCM B : 1

(A) 1147 (B) 18352
(C) 4588 (D) 38 9§ Pz 7l
If HCF of 124 and 148 is 4, then their LCM is :
(A) 1147 (B) 18352
(C) 4588 (D) None of these
2. 3x2+1+4x % LID ¢ 1
1 1
A 1’_ B 1,——
(A) 3 (B) 3
1 1
C -1- D) -1-—-
(& 3 (D) 3
The zeros of 3x2 + 1 + 4x are :
1 1
A) 1,— B -
(A) 3 (B) 3
1 1
C) -1,- D) -1-—
(C) 3 (D) 3

3. T ax+by+c, =0 A ayx+by+c, =0 & g L-b_a 7

a, by ¢

fr=ifoifeg & a9-1 g s ? 1
(A) SAfEaE B (B) IR &
(C) i3 & &l (D) T8 & HiE &

If in equations a;x+bjy+c; =0 and asx+byy+cy =0, a _b

a, by ¢y

then which of the following is true ?

D)

)

_ <

K

1903/(Set : D) P.T.O.



(4) 1903/(Set : D)

(A) Unique solution (B) Infinite solutions
(C) No solution (D) None of these
4. A.P. 5, 6%,8, 9%, ......... P 1591 & ® : 1
1 1
A) 15— B) 14—
(A) 2 (B) 2
(C) 26 (D) 27l
2
1 1 .
15th term of A. P. 5, 6—,8, 9—, ......... is :
2 2
1 1
A) 15— B) 14—
(A) 5 (B) >
(C) 26 (D) 27%
5. 3¢ TH A. P. & 97 95 12 SlX 10a1 I 26 ¥, o I9H 20a1 TE 2 : 1
(A) 46 (B) 52
(C) 50 (D) 44
If the third term of an A. P. is 12 and 10th term is 26, then its 20th
term is :
(A) 46 (B) 52
(C) 50 (D) 44
6. & T T ¥ DE ||BC, @ EC & 99 © : 1
A
1.5 9, \ 1.2 &
D E
3 &
B C
A) 2.7 94 (B) 1.5 aHi

1903/(Set : D)



(5) 1903/(Set : D)
(C) 2.4 a4 (D) 3 &4t

In the given figure DE || BC, then the value of EC is :

A
1.5 cm 1.2 cm

D E
3 cm
B C
(A) 2.7 cm B) 1.5cm
(C) 2.4cm (D) 3 cm

7. A GUEY Bt @ Al # SUE 5 : 3 B, A SEdl €I Yeel & STuM ©
1
(A) 5:3 B) 3:5

(C) 5:43 (D) 3:5

Areas of two similar triangles are in the ratio of 5 : 3, then the ratio of
their corresponding sides is :

A) 5:3 B) 3:5
(C) +5:43 (D) +3:45

8. WREAAMIT S &= § 58 & g0 W T Ia & WA W H T=1 4
o Bl I # B @ TR © 1
(A) 394 (B) 4 3
(C) 5@ (D) 8 &

The length of tangent from a point A at distance 5 cm from the centre of
circle is 4 cm. The radius of the circle is :

(A) 3 cm (B) 4 cm
(C) Scm (D) 8 cm

9. I & <X Rq el o5 & g0 W dieh 1 wsf @l &t e e ;1

1903/(Set : D) P.T.O.
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(A) 1 B) 2
) 4 (D) 0O
Number of tangents drawn from a point inside the circle is :
(A) 1 (B) 2
c 4 (D) ©
10. 75 (3,-4) N W g A g0 & ¢ 1
(A) -1 B) 1
€ 5 (D) 7
The distance of point (3, —4) from origin is :
(A) -1 B) 1
€ 5 (D) 7
11. (2, 3), (-1, 0) &R (2, -4) F FEAW & 99 a@ B & & & ¢ 1
(A) 21 (B) 10.5
(€) O (D) & & P T
The area of triangle formed by the joining (2, 3), (-1, 0) and (2, —4) is :
(A) 21 (B) 10.5
(C) O (D) None of these
12. zri%cotA:Q—Z,a‘rsinAasrrrFr%: 1
24 24
@A) — (B) 25
25 7
(€) 2% (D) 25

If cotA = 2—74, then the value of sin Ais :

1903/(Set : D)



(7) 1903/(Set : D)

24 24
(A) T3 (B) 25
25 7
(C) 22 (D) 25
13. 3sin30°-4sin®30° # A9 ¥ : 1
(A) sin 60° (B) sin 90°
(€) o (D) & & HI§ &
The value of 3sin30° —4sin®30° is :
(A) sin 60° (B) sin 90°
(C) O (D) None of these
14. 99 % a9 AR IR & FUA © ¢ 1
(A) 2m:1 B) 1:2x
C) 1:m D) m:1

The ratio of the diameter is to circumference is :
(A) 2m:1 B) 1:2n
C 1:= D) =m:1
15. TF 3o & oER & Brewr 2.1 ¥ X a5 9 8, O SO omge ' ¢ i

(A) 22.05n B) 7.35m
() 21n (D) 8 & P et

The radius of the base of a cylinder is 2.1 cm and height 5 cm, then its

volume is :

1903/(Set : D) P.T.O.



16.

17.

18.

19.

20.

21.

(8) 1903/(Set : D)

(A) 22.05m B) 7.357
C) 21nm (D) None of these
IR P(A ) = 0.04 @ P(A) &l 99 B : 1
(A) 0.04 B) O
(C) 0.96 (D) 0.6
If P (not A) =0.04 then P (A) is :
(A) 0.04 B) O
(C) 0.96 (D) 0.6

geg - §

SECTION - B

s #ifT % 3+2V5 s orufag e B 3

Prove that 3+ 24/5 is an irrational number.
o fEE ague o S FEe 9E 3 9k -2 B 3
Find a quadratic polynomial whose zeros are 3 and -2.

10 W o= U Gl AR ® GeR 39 YBR Gl € % 98 8 W Hdl Uk g
T Tgad ol digl & o R @ 6] § g0 [ i 3

A ladder 10 m long reaches a window 8 m above the ground. Find the
foot distance of the foot of the ladder from the wall.

i tan 2A = cot (A — 18°), el 2A Tk JAHT &5, <M A F AW 5T HiQl 3

If tan 2A = cot (A — 18°), where 2A is an acute angle, then find the value
of A.

6 T B 8l 60° FYT I gq F Freurds @ &Fwd oI diWl 3

Find the area of a sector of a circle with radius 6 cm and angle of
sector 60°.
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2x_3Yy _ _,
3 2
x 4y _25
2 3 3

Solve the following equations :

2x_3y_ ,
3 2
X, 4y _25
2 3 3

TF AR Od # §96A 528 W2 ¥ AR BT B TR MR B T A 1A
afees B, @ ©d 3l T o AISE S S 4

The area of a rectangular plot is 528 m?. The length of the plot is one
meter more than twice its breadth. Find the length and breadth of the
plot.

I A. P. & U8 10 U& H IR -60 AR Ysd 15 T&l & AT —-165 &, dl S°b
Ted n & ® AN AT i 4

If the sum of first 10 terms of an A. P. is —-60 and sum of first 15 terms

is =165, then find the sum of its n terms.

el a1 forg & g0 W Eil T wet el aEar aUe] B |, s i
4
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Prove that the length of tangents drawn from an external point to a

circle are equal.

TH Y B T dE Bl T TE A UH YN BT Nl g1 39 T & U B 9
BN @ IRl ST i 39 U & SRl 1 B i WA Wi S i
4

A card is drawn from a well shuffled pack of playing cards. Find the
probability that card drawn is a heart card. Also find the probability

that card is not an ace.

(3, 4) R (-4, 7) H FAM ax @ B y-3& fFF o # oo wxar B 7
oot & art faeg & Feeris ot s i 4

Find the ratio in which the line joining (3, 4) and (-4, 7) is divided by y-

axis. Also find the coordinates of the point of intersection.

gue - §
SECTION-D

q RIAl & 99 168 5 IET B H Th TN QTel, 99 el 9 1 ger

T Al & (R W 38 B 9 A 7 7 G 9 A TR el # A

TR M ¥ 14 /v it &, @ I iSdl Bl Ned A Sid it
5

An express train takes 1 hour less than a passenger train to travel 168

km between two stations (Stoppage time between two stations is not
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considered). If the average speed of the express train is 14 km/hour

more than the passenger train, find the average speeds of two trains.

s @i - 5

tan® N cotO
1-cot6 1-—tan®

=1+secO cosecO

Prove that :

tano© N cotO
1-cot6 1-tan®o

=1+secH cosec0

e

OR
I & 5 P ¥ T 10 W &9 9 & RWER & IET T 30° 5 W& &
RER W @5 &9 & RER & I+ET &0 45° & &9 & a= AR 45 P 4
T U T Bl

From the point P on the ground the angle of elevation of the top of a 10
m building is 30°. A flag is hoisted at the top of building and the angle
of elevation of the top of flagstaff from P is 45°. Find the length of
flagstaff and distance of building from P.

5 G, 6 T X 7 T [oNST A TF BN & @ B 39 BYST & q9ed
@agaﬁww,meﬁgaﬁswgmﬁga. 5
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Construct a triangle with sides 5 cm, 6 cm and 7 cm. Consider
another similar triangle whose sides are % of the corresponding sides
of first triangle.

31. 6 &7 B @ @& A F AT 24§ FAR a9 TH S F S S B
gif & IR H Bredr 1d HfY 5

A metallic sphere of radius 6 cm is melted and recast into the shape of
cone of height 24 cm. Find the radius of the base of the cone.

32. fr=foied arell § o & & el &1 3 o9 &= R e ;5
aﬁﬁﬁ aﬁ @ﬁ' ('an' ﬁ) 11-13(13-15|15-17|17-19(19-21(21-23|23-25
feenfiat & g 7 6 o | 13 | 20 | 5 4

5 T & Jed H A o9 @ F S

The following distribution shows the daily pocket money of children of a

school :

Daily Pocket Money (Rs.) [11-13|13-15|15-17|17-19|19-21|21-23|23-25
Number of Children 7 6 9 13 20 5 4

Find the average daily pocket money of children.

HAYqT
OR

TF N B 40 yRrEr B TR qRen § o A f R R

@‘ﬁ'ﬁ’ﬁ (ﬁ:ﬁ ﬁ) 18-27 | 27-36 | 36-45 | 45-54 | 54-63 | 63-72
qREt ) e 3 5 10 13 5 4

uRial @ AT RS ST T

1903/(Set : D)



(13) 1903/(Set : D)

The length of 40 leaves of a plant are measured in mm and are given in

the following table :

Length in (mm) 18-27 | 27-36 | 36-45 | 45-54 | 54-63 | 63-72
Number of Leaves 3 5 10 13 5 4

Find the median length of the leaves
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